
Math 1553 Worksheet 1

August 26, 2016

1. a) Which of the following matrices are in row echelon form? Which are in re-
duced row echelon form?

b) Which entries are the pivots? Which are the pivot columns?

 

1 0 0 0
0 1 0 0
0 0 1 1

!  

1 0 1 0
0 1 1 0
0 0 0 1

!







1 1 0 1 1
0 2 0 2 2
0 0 0 3 3
0 0 0 0 4







 

1 1 0 1
0 0 1 1
0 0 0 0

!

2. a) Row reduce the following matrices to reduced row echelon form.

b) If these are augmented matrices for a linear system (with the last column being
after the = sign), then which are inconsistent? Which have a unique solution?

 

1 2 3 4
4 5 6 7
6 7 8 9

!  

1 3 5 7
3 5 7 9
5 7 9 1

!  

3 −4 2 0
−8 12 −4 0
−6 8 −1 0

!


